
A–0089 /BSCZ O–103 ( 1 ) P.T.O.

A-0089

Total Pages : 4 Roll No. ........................

BSCZO–103

Bachelor of Science (BSC)

(Genetics, Taxonomy & Evolution)

1st Year Examination, Session December 2024

Time : 2:00 Hrs. Max. Marks : 35

Note :– This paper is of Thirty Five (35) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV % ;g iz'u&i= iSarhl (35) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nine and Half (9½) marks each.

Learners are required to answer any two (02)

questions only.

uksV % [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, lk<s+ ukS (9½) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explain the term taxonomy and also write about

Zoological Nomenclature.

o£xdh 'kCn dh O;k[;k dhft, rFkk izk.kh'kkL=h; ukedj.k ds

ckjs esa Hkh fyf[k,A

2. What is speciation ? Explain various types of speciation.

iztkfrmÚou D;k gS \ fofHkék izdkj dh iztkfrmÚou le>kb,A

3. Compare Lamarckian theory of evolution with Darwin

theory of evolution.

ySekdZ ds mf}dkl ds fl¼kUr dh rqyuk Mk£ou ds mf}dkl ds

fl¼kUr ls dhft,A
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4. What is Miller ’s experiment ? Explain it with diagram.

feyj dk iz;ksx D;k gS \ bls fp= lfgr le>kb,A

5. Discuss about various biogeographic region in India.

Hkkjr esa fofHkék tSo&HkkSxksfyd {ks= ds ckjs esa ppkZ dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

uksV % [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, pkj (04) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What do you understand by the term Linkage ?

fyadst (lgyXurk) 'kCn ls vki D;k le>rs gSa \

2. Write about law of dominance and law of segregation.

izHkkfork ds fu;e vkSj i`FkDdj.k ds fu;e ds ckjs esa fyf[k,A

3. Write a short on :

(i) Aneuploidy

(ii) Polysomy
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laf{kIr uksV fyf[k, %

(i) ,uqIyksbMh (vlqxqf.krk)

(ii) ikWyhlkseh (cgqlw=rk)

4. Write about inborn error.

vartkZr =qfV ds ckjs esa fyf[k,A

5. Differential between binomial nomenclature and

trinomial nomenclature.

f}in ukedj.k vkSj f=in ukedj.k ds chp varjA

6. What are Fossils ? Write about its types ?

thok'e D;k gSa \ blds izdkjksa ds ckjs esa fyf[k,A

7. Compare micro and macro evolution.

lw{e vkSj LFkwy fodkl dh rqyuk dhft,A

8. Write a short note on comparative embryology.

rqyukRed Hkwz.kfoKku ij ,d laf{kIr fVIi.kh fyf[k,A

**************


